ANALYSING THE UK GENERAL ELECTION 2015
1)  How many MPs were elected at the 2015 General Election (= seats in the House of Commons = individual constituencies in the UK) ?

No.s from each region/nation? 
2)  How many MPs are needed for a majority in the House of Commons?
3)  How many seats in the House of Commons did the Conservatives win in 2015?  Give nos & the % of the whole.


… Labour?


… Lib Dems


… SNP


& others (collectively – cd break this down by party?)

 (bearing in mind Sinn Fein MPs and the Speaker + 3 deputies do not normally vote, how many MPs does David Cameron need for an effective majority?)
4)  Add headings in Row 1 from cell T1 to X1 (take the filter off first) and perform calculations in Row 2 for:

· Voters = total number of people casting a vote in a constituency in the General Election 

· Turnout = percentage of the total eligible electorate (= UK citizens registered on the electoral roll in that constituency) that actually voted in the General Election 

· Majority = the number of votes the winning candidate in the constituency had over the second placed candidate (not to be confused with the government’s majority in parliament, considered earlier) 

· % Majority = the winning candidate’s majority as a percentage of the total votes cast

· % Won by winning candidate = the percentage of the total votes cast that the winning candidate won

· Now replicate each formula down the whole column to perform the calculation for each constituency in the election

5)  How many votes did each party get at the general election (in both seats they won and seats they did not win)?
6)  What was the total no. of votes cast at the General Election?

What percentage was this of the 
- population






- electorate (how defined?   
What percentage of the vote did each of the main parties get?
7)  Compare the percentage of the vote won by each party to the percentage of seats they achieved in the House of Commons.  This could be done by producing two graphs.  What do you notice?
8)  How many women were elected to the House of Commons in 2015?  

What percentage of the whole House of Commons is this?

How much does this vary by party?

How many MPs are from an ethnic minority background?

What percentage of the whole House of Commons is this?

How much does this vary by party?

9)  On average, how many eligible voters are there in each constituency?

Does this vary by
- region?


- winning party?

10)  How many votes were needed to elect the average Labour MP?  Compare this to the numbers needed to elect the average Conservative, UKIP, SNP and Lib Dem MPs.
11)  Sort the constituencies by turnout?  What was the highest turnout?  What was the lowest turnout?  Study the 20 or 30 constituencies with high and low turnout – do any patterns emerge?
12)  How many MPs won their seats with more than 50% of the votes cast in their constituency? %?
- How many MPs won their seats with 40-50% of the votes cast? %

- How many MPs won their seats with less than 40% of the votes cast?  Where? (save the data for the future).  How was this possible?

13)  How many incumbents were re-elected?
Were seats more likely to change party if the incumbent MP was retiring?

Discussion & Analysis – 

i. To what extent does the election result reflect the popular will?

ii. How fair is the voting system to the different parties?  Which parties might feel most unhappy with the way the system works?

iii. How strong is the government’s mandate from the UK people?

iv. How far does the SNP’s success explain the election of a Conservative government?

v. Do you consider the turnout in 2015 to be high or low?  Why might some electors not vote?

